OO MANO WAl Fite

Crco mowews o sfes o |
’m \’\C smncm IIIII m;mﬁ

Eapm: _TDHN uemmeo -
._SOSIEC.T mea mhcecs m a Dmgufuouc

'm&. Mr&cneo mms boc.uumfr A M&"t’dm 'Foa
_RITING_ TRAKS D AW MRBITRARY Akw&'c OF PETEGREY
__1ocaxtons (SEnsens. HIT) W DETECTION e
| INCLUDED, THE IDEA 15 T USe THE POSTLLATED |
| CTRACK O CALCULATE AN EXPRCTEQ ARRNAL TIM@.
. AT_THE _STRUCK DRTECTDR. Mumnca\pc_-me.mn a:-nq |
__S@UMES pE TR TIME DFEERENCES (EXPECTRD
_AoD_"oRSERVEQ™). EANS, (AD 16 RELDWY) 2HOW D
wane-wwo YO TTHE. Hh& QKLHOB0 SOLUTIBN TG 15
N \\weum o&mo% kB IR0, 4u~\c& T PHTULATE h— 1

B #_‘NMEQ n‘ 19 momuc h'iot‘ h MO msgmmu w
. SwALLOW THE. SRATIAL EReokS ( PRTECTDR PostuN)
. AND RHODN TRACK G_nnms (sc&mma\ INTD 6RE.
. TeMIORAL BRROR.
T whO\D EMPLOY THS AR W MMLML
. WERIGHTING AT ReST. T MOT AU ALC SORE TR
____AM?L\‘WBE 15 LseFLL Foa mmc Rmaom

PR R SR T




,H TR A - R (al 4th Ao
e, = (%-ny, —rhnw .
R 3.3, = Geemedmx ) + (g -

e Qi_c____eé(&fxé *f»(v;frﬂ*‘«hs‘_‘t’;
| @ |

l\d = (=, “*o\-r(m-p}-w. .-\JQ

_Aso__(sw___m_eafh
] CARY WRTE THE EXPRESSWON
o [EXPECTED |




Cmusohuve ammterns
_ﬁl &Y
Sl

( NGTE 'mar ONE CBOLD T MDCH Fﬁmlm A o

_ ARCOONST._ PHOTD ELECTRON STATLETCS ) AND OTIUR MK

___THE (SEDRMATION IN THE DE'(EC!DRS BOT T, T

| BOUST THAT (T WOULD BUX ONE MutH mor.ﬂ) ‘mEu,Auo
As USUAL WE CMY DEttmE e |

-_ _ W z- QM‘g_ ..&_%_({;.-t‘\ * c.ws'mms

Mm\W‘%NQ w ka\Mﬂ;Es g_ M!D "ﬂw‘; ‘ME DE&&QEQ
ﬂesuur | ue wa.m‘ v eowE FO(L TUE  MIBIMUM

- Gr’ - | — - Z /t ‘t(\ _@_) __H L

 \N_TERMS_OE THE ‘oMK wzam&tens (%, 4,,1.. ,-t

15)@ - ""P) (“KW ,, |

@' 0w & UTULE. EOTLE STEMPT_ M AN mmx'nc. ]
_SOLOTION. A LSUAL AGAIS, Aswmbx TR CLTHEMOM
_THAT d % &&os&m th THE !MMME.TF-RS \\e. W
v u,n.coms |

i /a‘ AK..L R




NOW TRY TOR Al ANALITICAL sooTION:

M:w Sy <3, 5. R :
| = '\' Z—.(‘t “"“P‘“ L Sl Y) F\

VX, < ) J..:__._ B

B Y .o a{ 3 (2
et 14.,& Lo R




/ fzgu;;« s
TR }[Z%*c M\Lﬁf il .M]}

L _ms wes___mx_ AWEML %I&*r Yo ‘HN\PUF\’

_smew € = TRY me em______ﬁo_ag,_sg;ﬁ__g_ GREM

1
J— —— ———— e e K e ————n
— SUR—— e
— — j— e e bt o ———— e e = C e e e ———



